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Unit 4 Outcome 1, Task 1c – Case Study Analysis

Teacher Advice
This task has been developed within the scope of the Study Design. Please note that VCAA advice states that for 2020, this SAC task must be completed as one task and not split into 2 x 25 mark tasks. This task has been written to allow it to be split into 2 x 25 mark tasks as some schools may choose to use it as a practice SAC in 2021, when it can again be split into 2 x 25 mark tasks. 
The relevant dot points from the Study Design for this task are:
Key knowledge 
· characteristics of high- , middle- and low-income countries
· similarities and differences in health status and burden of disease in low- , middle- and high-income countries, including AustraliaQ 1 – 4 

· factors that contribute to similarities and differences in health status and burden of disease, including access to safe water; sanitation; poverty; inequality and discrimination (race, religion, sex, sexual orientation and gender identity); and global distribution and marketing of tobacco, alcohol and processed foods
· the concept and dimensions of sustainability (environmental, social, economic) and its role in the promotion of health and wellbeing
· the concept of human development, including advantages and limitations of the Human Development Index
· implications for health and wellbeing of global trends including:Q 5 – 8

· climate change (rising sea levels, changing weather patterns and more extreme weather events)
· conflict and mass migration
· increased world trade and tourism
· digital technologies that enable increased knowledge sharing.

Key skills

· describe characteristics of high-, middle- and low-income countries
· evaluate data to analyse similarities and differences between countries in relation to health status and burden of diseaseQ 1 – 4 

· analyse factors that contribute to health status and burden of disease in different countries and discuss their impact on health and wellbeing
· compare health data and other information to analyse reasons for health inequalities within and between nations
· explain sustainability (environmental, social, economic) and its importance in the promotion of health and wellbeing in a global contextQ 5 – 8 

· explain the Human Development Index and evaluate its usefulness in measuring human development of countries
· analyse the implications for health and wellbeing of particular global trends.

Student preparation
Students should be adequately prepared with regards to all relevant key knowledge and key skills dot points before sitting the task. Teachers should read through SAC tasks prior to students completing the task to ensure all relevant content has been addressed.
As well as having an understanding of key knowledge points and the ability to carry out the key skills, students should be able to explain or define all words within the dot points. 
When presented with data, the data should be used at some stage in the related answers. This shows a greater level of understanding of data as opposed to making generalised comments. 
If a question asks for similarities or differences between population groups, students should make reference to both groups in their answer. 
Students should be aware of the difference between health status and factors affecting health status. If a question is about health status, students should link their answer back to a health status indicator or a particular condition. For example, socioeconomic status is an example of a sociocultural factor, not an aspect of health status. 
When students are asked to link to health and wellbeing, the dimensions (physical, social, emotional, mental and / or spiritual) should form the basis of the response. 
Creating one 50 mark task
For 2020, this task should be completed as one 50 mark task and therefore the cover sheet for Part 2 should be deleted. In 2021, schools can choose to complete the task as 2 x 25 mark tasks if they wish.  
Time
This SAC has been developed to be completed in a 60 minute timeframe. Teachers may want to add reading time to simulate the end-of-year examination. It can also be split into two tasks (worth 25 marks each) if smaller tasks are preferable. If so, these tasks should be completed in a 30 minute timeframe. 
Materials
Students only require a pen to complete this task. 
Conditions
This task should be completed under test conditions. It has been written to reflect the end-of-year examination and provides valuable practice for the skills required to succeed in the examination. 
Students should not have access to any notes, mobile phones, calculators or any other electronic device. 
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• Students are permitted to bring into the assessment room: pens, pencils, highlighters, erasers, sharpeners and rulers.
• Students are NOT permitted to bring into the assessment room: blank sheets of paper and/or white out liquid/tape.
• No calculator is allowed in this assessment.

Materials supplied
• Question and answer booklet.
• Additional space is available at the end of the booklet if you need extra paper to complete an answer. Ensure any extra space used is labelled clearly with the question number. 

Instructions
• Write your name and student number in the space provided above on this page.
• All written responses must be in English.




Students are NOT permitted to bring mobile phones and/or any other unauthorised electronic
devices into the assessment room.

This assessment task (including teacher advice and answer guide) remain the copyright of the Health Teachers’ Network. Schools that have purchased this task are authorised to reproduce it for use within their school only. Any other use or reproduction of this task without the permission of the Health Teachers’ Network is prohibited. 
Question 1  (4 marks)

In 2018 there were an estimated 12.8 million births among adolescent girls aged 15–19 years, representing 44 births per 1000 adolescent girls. Adolescent birth rates are lowest in high-income countries (12 births per 1000 adolescent girls) and highest in low-income countries (97 births per 1000). 

Source: WHO, World Health Statistics, 2019. 

Using poverty as the basis of each response, explain two reasons that account for higher adolescent birth rates in low-income countries compared to high-income countries. 	                                  

______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
Question 2  (3 marks)

Besides the differences in poverty, adolescent birth rates and access to water and sanitation, outline three characteristics of low-income countries compared to high-income countries. 	                   

______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________












Question 3  (10 marks)

The following graph shows the rate of DALY (per 100 000 people) due to unsafe water and sanitation in the world, Australia and the World Bank income groups. 


Source: Adapted from http://www.healthdata.org/

a. Briefly describe the difference between safe water and sanitation. 			                     2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
b. Using data, outline the relationship between income level and the rate of DALY due to unsafe water.   2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________

c. Explain two ways that lack of access to sanitation can contribute to the difference in the rate of DALY between low-income countries and Australia. 							       4 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
d. Explain how lack of safe water may impact health and wellbeing in low-income countries.                    2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
Question 4  (8 marks)

Increasing rates of obesity are occurring in Australia and in all World Bank income groups.   

a. Explain two reasons that may account for the increasing rate of obesity in middle-income countries.     4 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________






b. Besides increasing rates of obesity, identify two similarities in health status between middle- and 
high-income countries. 							                                               2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
c. Briefly explain one challenge faced by low-income countries that is not faced by Australia when it 
comes to addressing obesity.  									       2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
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• Students are permitted to bring into the assessment room: pens, pencils, highlighters, erasers, sharpeners and rulers.
• Students are NOT permitted to bring into the assessment room: blank sheets of paper and/or white out liquid/tape.
• No calculator is allowed in this assessment.

Materials supplied
• Question and answer booklet.
• Additional space is available at the end of the booklet if you need extra paper to complete an answer. Ensure any extra space used is labelled clearly with the question number. 

Instructions
• Write your name and student number in the space provided above on this page.
• All written responses must be in English.





Students are NOT permitted to bring mobile phones and/or any other unauthorised electronic
devices into the assessment room.

This assessment task (including teacher advice and answer guide) remain the copyright of the Health Teachers’ Network. Schools that have purchased this task are authorised to reproduce it for use within their school only. Any other use or reproduction of this task without the permission of the Health Teachers’ Network is prohibited. 
Question 5  (11 marks)

Nala is a female who was born in 2020 in Uganda (a country in Africa with a low Human Development Index) and Josh is a male who was born in the same year in Australia (a country with a very high Human Development Index).  

a. Explain what is meant by ‘human development’. 						       3 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
b. Based on the different HDI classifications, discuss two potential differences that Nala and Josh may experience in relation to the level of human development experienced.  				       4 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
c. Evaluate the usefulness of the HDI in measuring the human development of countries.                          4 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
Question 6  (6 marks)

Two dimensions of sustainability are economic and social sustainability

a. Briefly explain the difference between social and economic sustainability. 		                     2 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
b. Identify the other dimension of sustainability and discuss why it is important in promoting health and wellbeing globally. 								                                  4 marks
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________



















Question 7  (4 marks)

The following is a summary of Australia’s weather in 2019 according to the Bureau of Meteorology: 

· Australia’s warmest year on record, with the annual national mean temperature 1.52 °C above average
· Both mean annual maximum and minimum temperatures above average for all States and the Northern Territory
· Annual national mean maximum temperature warmest on record (2.09 °C above average)
· Widespread warmth throughout the year; January, February, March, April, July, October, and December all amongst the ten warmest on record for Australian mean temperature for their respective months
· Australia’s driest year on record
· Nationally-averaged rainfall 40% below average for the year at 277.6 mm
· Rainfall below average for most of Australia
· Rainfall above average for parts of Queensland’s northwest and northern tropics
· Widespread severe fire weather throughout the year; national annual accumulated Forest Fire Danger Index highest since 1950, when national records began

Source: http://www.bom.gov.au/climate/current/annual/aus/2019/ 

Referring to information provided, explain two ways that changing weather patterns can influence health and wellbeing in Australia.   							
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________












Question 8  (4 marks)

Increasing levels of world trade can have many benefits for those in low-income countries, however, those in low-income countries are also more susceptible to the negative impacts of world trade. 

Briefly explain one potential positive and one potential negative impact on health and wellbeing for those in low-income countries as a result of world trade. 							

______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________



























END OF QUESTION AND ANSWER BOOKLET
Extra space for responses
Clearly number all responses in this space.
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________

Answer Guide
Please note that these answers are a guide only and do not represent every possible correct answer. 
1. Students receive two marks for each link they make between poverty and higher adolescent birth rates in low-income countries compared to high-income countries for a total of four marks. Answers worth two marks include: 

· Compared to high-income countries, higher rates of poverty in low-income countries means that girls are more likely to be subjected to arranged marriages as this is seen as a way of ensuring the girl’s needs are taken care of. This also means that girls are more likely to become pregnant during adolescence compared to those in high-income countries. 
· Lower levels of poverty in high-income countries mean that adolescent girls are less likely to have to work in the sex industry compared to those in low-income countries. This can decrease their chance of pregnancy. 
· Higher levels of poverty in low-income countries can mean that girls are less likely to be educated and may therefore not have a great understanding of how to prevent pregnancy compared to those in high-income countries, contributing to the difference in rates. 
· Lower levels of poverty in high-income countries can mean that people are more able to afford contraception than those in low-income countries. This can assist in reducing the risk of unwanted pregnancies and contribute to a lower adolescent birth rate. 
· Higher levels of poverty in low-income countries can mean that females are less able to access family planning services than those in high-income countries. This can contribute to higher rates of adolescent pregnancy. 

2. Students receive three marks for outlining three characteristics of low-income countries compared to high-income countries. There are many characteristics that students can use for this. Examples worth one mark include: 

· Levels of education are often lower in low-income countries compared to high-income countries.  
· Infrastructure is often not as well established in low-income countries compared to high-income countries.   
· Access to health care is often low in low-income countries compared to high-income countries.  
· Low-income countries often have fewer industries than high-income countries. 
· Levels of gender equality are often lower in low-income countries compared to high-income countries. 
· Social security systems are generally less developed in low-income countries compared to high-income countries. 
· People in low-income countries are more likely to live in poor housing compared to those in high-income countries.  
· Low-income countries are less likely to trade on the global market than high-income countries. 





3. a. Students receive two marks for briefly explaining the difference between water and sanitation. There are a number of ways students can answer this question. Answers worth two marks include: 

· Clean water relates to having a clean water supply that can be used to sustain human life without making people sick. Sanitation relates to the removal of hazardous wastes from the immediate environment. 
· Clean water is water that is not contaminated with pathogens whereas sanitation relates to hygiene and the removal of human wastes to prevent illness. 

b. Students receive one mark for outlining the relationship and another mark for the correct use of data. For example: 

As average income decreases, the rate of DALY due to unsafe water increases. For example, there was virtually no DALY due to unsafe water in high income countries, around 100 per 100 000 in upper-middle, around 1300 per 100 000 in lower middle-income and around 2800 per 100 000 in low-income. 

c. Students receive two marks for each link they make between lack of access to sanitation and the difference in the rate of DALY for a total of four marks. Students should ensure they do not double dip by using two distinct answers. Note that if students use different infectious diseases caused by drinking water contaminated by unsafe sanitation, a maximum of three marks can be awarded. Answers worth two marks include: 

· Lack of sanitation in low-income countries means that more people are likely to practice open defecation than in high-income countries. Often defecation can mean that water sources become contaminated with human waste and can then cause the spread of conditions such as cholera. This contributes significant DALY in low-income countries compared to high-income countries. 
· Lack of sanitation can mean that girls do not attend school whilst they are menstruating. This can contribute to lower levels of education compared to girls in high-income countries. This can mean that females in low-income countries are forced to work in agriculture which can contribute to more DALY from injuries and musculoskeletal problems compared to those in high-income countries. 
· Lack of sanitation can contribute to physical assault in low-income countries as people (especially girls) will wait until it is dark until they relieve themselves. As they look for somewhere private to urinate or defecate, they are more likely to be the target of assault which can contribute to higher rates of DALY compared to those in high-income countries. 

d. Students receive two marks for linking lack of safe water to a dimension of health and wellbeing. Answers worth two marks include: 

· Lack of safe water can mean that people spend their days walking to collect water. This can mean that children are not in school and adults are unable to work in an area that interests them which can prevent people from working towards their purpose in life. 
· Lack of safe water can increase the likelihood of becoming sick from conditions such as dysentery. This can lead to diarrhoea and vomiting, impacting physical health and wellbeing. 
· Lack of safe water can mean that children are not able to attend school as they have to collect water. This can impact on their relationships which can negatively affect social health and wellbeing. 




4. a. Students receive two marks for each reason they explain for increasing rates of obesity in middle-income countries. If they answer with statements such as ‘people are consuming more energy’ or ‘people are exercising less’ one mark can be awarded. Note that students do not have to compare this to any other income group. Answers worth two marks include: 

· Middle-income countries have experienced an increase in technology such as computers and gaming consoles. This has reduced the amount pf physical activity that people participate in, contributing to an increase in rates of obesity. 
· Many people living in middle-income countries move to urban areas in an attempt to find work. This increases exposure to processed foods which are often energy dense, contributing to weight gain and increasing rates of obesity. 
· Governments in many middle-income countries have not implemented policies to adequately address increasing rates of obesity. This has meant that rates have continued to increase over time as people become less physically active and consume more energy.
· Economies and average incomes have increased in many middle-income countries. This has given people more money to spend on energy dense foods and passive recreation which have contributed to increasing rates of obesity. 
· [bookmark: _GoBack]As average incomes have improved in most middle-income countries, more people have income to spend on discretionary foods that may be energy dense. This, coupled with relatively low levels of education, has seen the consumption of these foods increase, contributing to higher rates of obesity. 
· The marketing of energy-dense processed foods such as Coca Cola and McDonalds has increased in many middle-income countries. As a result, more people are consuming these foods, contributing to weight gain and increasing rates of obesity.  
 
b. Students receive one mark for each similarity they identify between middle- and high-income countries in relation to health status for a total of two marks. Answers worth one mark include: 

· Non-communicable diseases are the leading cause of death in both income groups. 
· Life expectancy is improving in both high- and middle-income countries. 
· Rates of infant and under 5 mortality are decreasing in both income groups. 
· Maternal mortality rates are decreasing in both middle- and high-income countries. 
· The prevalence of non-communicable diseases is increasing in most middle- and high-income countries. 
· Males have a lower life expectancy than females in both middle- and high-income countries. 

c. Students receive one mark for briefly explaining one challenge faced by low-income countries that is not faced by Australia. Answers worth two marks include: 

· Health systems are often poor in low-income countries compared to Australia which can mean that if people get sick from an obesity-related condition, they cannot access health care. 
· Low-income countries often experience a double burden of disease with high rates of communicable and non-communicable diseases. This can mean that low-income countries do not have the health resources to be able to deal with all of the causes of ill-health, including obesity, whereas Australia is better equipped to deal with these conditions.
· Compared to Australia, governments in low-income countries may not have enough money to implement education campaigns relating to the dangers of obesity.  
· Lack of infrastructure such as internet and telecommunications can make it difficult to communicate the dangers of obesity. This is more common in low-income countries than countries like Australia. 
· Levels of education are low in low-income countries which means it can be difficult to educate people about obesity through print media compared to Australia. 

5. a. Students receive three marks for making three points about what human development relates to. Points worth one mark include: 

· It is about creating an environment where people can have freedom and choices in their lives. 
· Ensuring people can lead long and healthy lives
· Allowing people to have access to knowledge
· Being able to access the resources required for a decent standard of living 
· Having opportunities to participate in the life of the community. 
· Being able to participate in the decisions that affect their lives. 
· People leading lives in accordance with their needs and interests. 

b. Students receive one mark for each HDI indicator (or dimension) they identify and another mark for linking it to differences in the level of human development experienced between Nala and Josh for a total of four marks. Answers worth two marks include: 

· Higher mean years of schooling in Australia may mean that Josh will receive a higher level of education than Nala. This will give him greater choice in relation to the work that he does which can mean that he is more likely to lead a life he values, compared to Nala.  
· Lower life expectancy at birth in Uganda compared to Australia, can mean that Nala may not have the same opportunity to lead a long, healthy life compared to Josh.  
· A higher GNI per capita in Australia can mean that money is available for Josh to spend on resources such as food, clothing, shelter and health care. This can improve his ability to lead a life he values as he can access the resources required for a decent standard of living, compared to Nala who will probably have a lower income.   
· Higher expected years of schooling means that Josh will probably spend more time in formal education than Nala. This can mean that Josh is less likely to be exploited through child labour. This increases his ability to develop his capabilities in relation to future employment and gives him a greater say in the decisions that affect his life.  






















c. Students receive one mark for each point they make in relation to evaluating the usefulness of the HDI in measuring the human development of countries for total of four marks. Students should try to include at least one positive and one negative in their answer. Students can make more brief points or fewer points with more discussion. Answers worth one mark include: 

· The HDI includes three components (i.e. dimensions) of human development so is a better measure of human development than other indicators. 
· It provides an indication of opportunities for education, which reflects access to knowledge.
· Average income reflects the ability to access the resources required for a decent standard of living which is a key part of human development.
· The HDI only reflects selected aspects of human development.
· The HDI provides a single statistic which makes it easier to predict the level of human development being experienced in a country. 
· The HDI is still based on averages so it hides inequalities experienced in relation to human development. 
· No survey data are collected in the HDI, so people’s feelings about their lives and issues facing communities are not reflected which is an important part of human development. 
· Collecting data is complex and the reliability of data for measuring human development remains a challenge. 

Answers worth two marks include: 

· The HDI includes data relating to education. Access to knowledge is a key component of human development which assists in making this measure a more complete indicator of the human development experienced. 
· The HDI only reflects selected aspects of human development such as life expectancy, education and average income and therefore does not capture the richness and depth of human development. 
· In some situations, the concept of human development has been equated with the three dimensions of the HDI, which neglects key aspects of human development including freedom, choices and capabilities.
· The indicators used to calculate the HDI are based on averages, so even though the average may indicate a high level of human development, there may be many people within the country who are experiencing much lower levels of human development. 

6. a. Students receive one mark for showing an understanding of social sustainability and another mark for showing an understanding of economic sustainability for a total of two marks. For example: 

Social sustainability can be defined as creating an equitable society that meets the needs of all citizens and can be maintained indefinitely whereas economic sustainability relates to ensuring that average incomes in all countries are adequate to sustain a decent standard of living and continue to rise in line with inflation and living costs in the future. 










b. Students receive one mark for identifying ‘environmental sustainability’ and three marks for including three pieces of information relating to why it is important in promoting health and wellbeing globally. Note that students should ensure their discussion is in a global context to be eligible for full marks. Answers worth four marks include: 

· Environmental sustainability means that people around the world will have ongoing access to clean water and air which reduces the risk of infectious diseases and respiratory diseases and therefore promotes physical health and wellbeing globally. It also means that people will be more able to attend school and work as they are less likely to be sick, which can mean that they can work towards their purpose in life, promoting spiritual health and wellbeing on a global scale. 
· Environmental sustainability means that natural resources around the world can be used for food. This is essential for future generations, as without it, people are more likely to contract infectious diseases and die from these conditions. This can mean that children around the world may grow up without parents which can force them into poverty. If they are living in poverty, they are more likely to be forced to work in dangerous jobs. This can mean that generations of people do not experience a sense of purpose in life which impacts spiritual health and wellbeing globally. 
· Environmental sustainability can assist in reducing natural disasters associated with extreme weather events. If people around the world have less exposure to these occurrences, homes are less likely to be destroyed which can assist in reducing levels of stress globally, promoting mental health and wellbeing. 

7. Students receive two marks for making a meaningful link between each piece of information and a dimension of health and wellbeing for a total of four marks. Answers worth two marks include: 

· It was Australia’s warmest year on record. This can mean that people who do not have access to air conditioners may have been more susceptible to the dangers of high heat. This can contribute to sickness and even death, especially for the elderly and those who are already sick, impacting physical health and wellbeing.
· It was Australia’s driest year on record which can mean that many areas experienced significant drought. For those who rely on favourable weather for their livelihood (such as farmers), it could contribute to significant amounts of stress due to financial loss. 
· Average rainfall was 40% below average which means that many areas were drier than usual. This can impact the availability of crops which can mean that people in some areas may experience food insecurity, meaning that levels of energy were lower than optimal. 
· Above average rainfall in parts of Queensland can contribute to floods. This can impact the ability of people to access a reliable drinking water supply which can contribute to higher levels of stress. 
· Above average temperatures and rainfall can increase the risk of tropical diseases such as Ross River fever as mosquitoes are more likely to breed in these conditions. This can lead to flu-like symptoms, impacting physical health and wellbeing. 
· Severe fire weather can threaten the homes of those who live in those areas. This can result in increased levels of stress and anxiety, impacting mental health and wellbeing. 







8. Students must describe a potential positive impact of world trade on health and wellbeing for those in low-income countries and a potential negative impact on health and wellbeing of world trade for those in low-income countries for a total of four marks. Answers worth two marks include: 

· World trade assists in creating jobs. With more jobs, levels of poverty can be reduced. This means more people will have money that can be used for resources such as housing. This provides protection from the elements and can promote physical health and wellbeing by decreasing the risk of infectious diseases. 
· World trade provides governments with more money through taxation revenue. This money can be used to implement services such as public education systems. This can promote a sense of purpose among children,  improving their spiritual health and wellbeing. 
· World trade means that more resources such as technology, are available throughout the world. This improves the ability of people to stay in touch with family and friends (such as through the use of mobile phones) which can improve relationships and social health and wellbeing. 
· World trade can improve the ability of people, especially women, in setting up a small business. This empowers women and gives them a sense of achievement, which can promote self-esteem and mental health and wellbeing. 
· Increased world trade can contribute to poor people being exploited. In order to be competitive on the international market, companies may employ people in unsafe conditions or not pay them a fair amount for the work they do. This can contribute to stress and anxiety and affect mental health and wellbeing. 
· Increased world trade can contribute to materials not being used in a sustainable manner. This can mean that resources such as fish stocks are not available in the future which can in turn, mean that people lose this as a food source, which can impact on physical health and wellbeing by contributing to undernourishment. 
· Children may be used as cheap labour to maintain levels of world trade. This can mean that they do not attend school which can reduce their opportunities to create bonds with other children, affecting their social health and wellbeing. 
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